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Topics Covered

- U 28, 108, 16T

« H|E(bit)2} HIO| E (byte)

- ARHOA
- 42 B W
- A4S B W
- EXE BHcE W

- XI=H (data type)
.« A=Y O| H 2t (type casting)

 More about printf(), scanf()
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H| E (Bit)2t HIO]| E(Byte)
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— 474: 00, 01, 10, 11
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H| E (Bit)2t HIO]| E(Byte)

- [IZO| 1HIO|IER B E 2T I+==2 22 107
== Hoiel7t?
2% 108 %
27 25 23 21
00000001 =1 =20 Lo
00000010 =2 =2 0 ol1lo]ol1]o
00000100 =4 = 22 T 1T 1
00001000 =8 = 23 ¢ 22 ¥
00010000 = D4 el Ao e & olCL
00100000 = 25 10010 = 24 + 21 = 18
01000000 = D6
10000000 = D7



Quiz #1

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Polls”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

// decimal number
// hexadecimal number
// octal number

num3 in decimal

// print numl in hexadecimal
// print numl in octal

#include <stdio.h>
int main ()
e C {
int numl = 10;
int num2?2 = 0xA;
int num3 = 012;
// print numl, num2,
printf ("%d\n", numl);
printf ("sd\n", num2);
printf ("%d\n", num3);
printf ("%x\n", numl);
printf ("%o\n", numl);
return 0O;
}
numl = 10
num2 =
¢ PythOn num3 = 0ol2 # octal number

# print numl, num2,
print('>d'%numl)
print('sd'%num?2)
print('sd'%num3)

print (' %x'%numl)
print('%o'%numl)

# decimal number
OxA # hexadecimal number

num3 1in decimal

# print numl in hexadecimal
# print numl in octal
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Quiz #2

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Polls”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/
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float3: exp 8H| E, frac 23H| E
double™: exp 11H| E, frac 52H| E
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o — | float, double

e floatd: sign 1H| E + exp 8H|E + frac 23H| E =
32H|E =4H}0|E

» double™: sign 1H| E + exp 11H| E + frac 52H| E
= 64H| E = gH}IO|E

« doubled H==7} O BI2 HIO|EE AFE L}

-> double™d H=7} H 5
Gl §0, O HAUSHA 5o = QUL



C Example 1

#include <stdio.h>

int main ()

{
float x =
double y =
printf("float: $.30f\n",
printf ("double: %.30f\n",

return 0O;

3.3333333333333333333333333333333333333333333337
3.333333333333333333333333333333333333333333333;

x);
V) ;




C Example 2

{

#include <stdio.h>

int main ()

float numl = ;
double numz2 = ;

for (int i=0; i< ;oi++)
{

numl += ;
numz? += ;

printf("%.20f\n", numl);
printf("%.20f\n", num?2);

return ;




e RIXIE:

— https://ko.wikipedia.org/wiki/F &2

— https://namu.wiki/w/ZB - E O| A 2| o= H Ti#s-3

— |IEEE 754 format
https://en.wikipedia.org/wiki/IEEE_floating_point
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https://en.wikipedia.org/wiki/IEEE_floating_point
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ASCII TABLE

Decimal Hexadecimal Binary Octal Char Decimal Hexadecimal Binary Octal Char | Decimal Hexadecimal Binary Octal Char
0 0 0 0 [NULL] 48 30 110000 60 0 96 60 1100000 140 °
1 1 1 1 [START OF HEADING] 49 31 110001 61 1 97 61 1100001 141 a
2 2 10 2 [START OF TEXT] 50 32 110010 &2 2 93 62 1100010 142 b
3 3 11 3 [END OF TEXT] 51 33 110011 63 3 99 63 1100011 143 ¢
4 4 100 4 [END OF TRANSMISSION] 52 34 110100 64 4 100 64 1100100 144 d
5 5 101 5 [ENQUIRY] 53 35 110101 65 5 101 65 1100101 145 e
6 6 110 6 [ACKNOWLEDGE] 54 36 110110 66 6 102 66 1100110 146 f
7 7 111 7 [BELL] 55 37 110111 &7 7 103 67 1100111 147 g
8 8 1000 10 [BACKSPACE] 56 38 111000 70 8 104 68 1101000 150 h
9 9 1001 11 [HORIZONTAL TAB] 57 39 111001 71 9 105 69 1101001 151 i
10 A 1010 12 [LINE FEED] 58 3A 111010 72 : 106 BA 1101010 152
11 B 1011 13 [VERTICAL TAB] 59 3B 111011 73 : 107 6B 1101011 153 k
12 C 1100 14 [FORM FEED] 60 3C 111100 74 = 108 6C 1101100 154 1
13 D 1101 15 [CARRIAGE RETURN] 61 3D 111101 75 = 109 6D 1101101 155 m
14 E 1110 16 [SHIFT OUT] 62 3E 111110 76 > 110 6E 1101110 156 n
15 F 1111 17 [SHIFT IN] 63 3F 111111 77 ? 111 6F 1101111 157 o
16 10 10000 20 [DATA LINK ESCAPE] 64 40 1000000 100 @ 112 70 1110000 160 p
17 11 10001 21 [DEVICE CONTROL 1] 65 41 1000001 101 A 113 71 1110001 161 q
18 12 10010 22 [DEVICE CONTROL 2] 66 42 1000010 102 B 114 72 1110010 162 r
19 13 10011 23 [DEVICE CONTROL 3] 67 43 1000011 103 C 115 73 1110011 163 s
20 14 10100 24 [DEVICE CONTROL 4] 68 44 1000100 104 D 116 74 1110100 164 t
21 15 10101 25 [NEGATIVE ACKNOWLEDGE]| 69 45 1000101 105 E 117 75 1110101 165 wu
22 16 10110 26 [SYNCHRONOUS IDLE] 70 46 1000110 106 F 118 76 1110110 166 v
23 17 10111 27 [ENG OF TRANS. BLOCK] 71 47 1000111 107 G 119 77 1110111 167 w
24 18 11000 30 [CANCEL] 72 48 1001000 110 H 120 78 1111000 170 x
25 19 11001 31 [END OF MEDIUM] 73 49 1001001 111 1 121 79 1111001 171y
26 14 11010 32 [SUBSTITUTE] 74 44 1001010 112 ] 122 TA 1111010 172 =z
27 1B 11011 33 [ESCAPE] 75 4B 1001011 113 K 123 7B 1111011 173 {
28 1C 11100 34 [FILE SEPARATOR] 76 4C 1001100 114 L 124 7C 1111100 174 |
29 1D 11101 35 [GROUP SEPARATOR) 77 4D 1001101115 ™M 125 7D 1111101 175 %
30 1E 11110 36 [RECORD SEPARATOR] 78 4E 1001110 116 N 126 7E 1111110 176 ~
31 1F 11111 37 [UNIT SEPARATOR] 79 4F 1001111 117 © 127 7F 1111111 177 [DEL]
32 20 100000 40 [SPACE] 80 50 1010000 120 P

33 21 100001 41 ! 81 51 1010001 121 Q

34 22 100010 42 " 82 52 1010010 122 R

35 23 100011 43 # 83 53 1010011 123 S

36 24 100100 44 $ 84 54 1010100 124 T

37 25 100101 45 % as 55 1010101 125 U

38 26 100110 46 & 86 56 1010110 126 V

39 27 100111 47 ' 87 57 1010111 127 W

40 28 101000 50 ( 88 58 1011000 130 X

41 29 101001 51 ) 89 59 1011001 131 Y

42 24 101010 52 * a0 5A 1011010 132 Z

43 2B 101011 53 + 91 SB 1011011 133 [

44 2C 101100 54 , 92 5C 1011100 134

ig g? igﬂi’; o 3431 i igﬂﬁé Eg 1 https://commons.wikimedia.org/wiki/Fil
47 2F 101111 57 | 95 5F 1011111 137 _ e:ASClI-Table.svg
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C Data Types

. COIM B0l RtEHe 3

A= F7F=Z L

« =3 B2~ char, short, int, long &

o A= B2 float, double &

o M2 XESHS "HEAlQE A
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C Data Types (64-bit gcc compiler)

Type Storage size Value range

char 1 byte -128 to 127 or 0 to 255
unsigned char 1 byte 0 to 255
signed char 1 byte -128 to 127
int 4 bytes -2,147,483,648 to 2,147,483,647
unsigned int 4 bytes 0 to 4,294,967,295
short 2 bytes -32,768 to 32,767
unsigned short 2 bytes 0 to 65,535
long 8 bytes -(27°63) to (2763)-1
unsigned long 8 bytes 0 to (2764)-1

Type Storage size Value range Precision
float 4 byte 1.2E-38 to 3.4E+38 6 decimal places
double 8 byte 2.3E-308 to 1.7E+308 15 decimal places
long double 16 byte




C Data Types
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sizeof AKX}

» SN AFESHT X
= CALYEHO X
=9 HHIO|E A
IEEFUS

—_—

#include <stdio.h>

int main ()

{

char a = ;
short b = ;
int ¢ = ;
float d = ;
double e = ;

printf("%1d\n",
printf("%1d\n",
printf("%1d\n",
printf("s1ld\n",
printf("s1ld\n",

return ;

sizeof (a));
sizeof (b)) ;
sizeof (c));
sizeof (d)) ;
sizeof (e));




Python 3 Data Types

= Numeric
« int/float / complex
« Types that describe numeric content

= Boolean
« bool
« Types that define true/false relationships
« Logical operators: and / or/ not

« Text
« Slir
« |mmutable string objects
« 1,2, or 3 quotes

« Sequence

« Lists

« Typically homogeneous sequences of objects
= An mutable, ordered array

« Square Brackets
« Tuple
« Typically heterogeneous sequences of objects

« An immutable collection
« Parenthesis

« Mapping

» Dictionaries
« A mutable, unordered, associative array
» Curly Brackets
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28 LE M EXIS oZAH ®SIL?

A0 LOidl E A StLb= chard H|0 &
>ASCIH ZE Y2 0~1277HX| 2 0| F0{H Q&
-> lbyte chard H+= 529 Y 7t

int main () int main ()
{ e {
char chl = "A'; char chl = 65;
char chz = 'C'; char ch2 = 067;
} / } /
A2 sEE AFE20HH oY 2At0ll CH=ot=
&= ZAF otLt=

ot=
// A2l ASCIIZE 8i2 6
// C2l ASCIIZE gt2 6

=XAtgt= 20|



F9|: X} (character)2t =Xt € (string)

« C

Hr

Ab)

char ch = 'a'; // 2 X (character)olLt. (AIAIE

char strl[] = "a"; // Z0|JF 12 EAE (string)
char str2[] = "abc"; // Z0/Jt 32 2AE (string)

* Python

strl = 'a' # 20[JF 12 2 A& (string)
str2 = 'abc' # ZO|Jt 3¢ 2AE (string)
str3 = "a" # 20[JF 12 2 A& (string)
strd = "abc" # Z0|J} 3¢ ZAE (string)




C & Python Examples

« C e Python

#include <stdio.h> i = 97
ch = 'a'
int main () print('%s %s'$(chr (i), ch))
{ print('%sd %d'$ (i, ord(ch)))
int i = 97; // W8l a2 ascirt DEg
char ch = "a';

printf ("character: %c %c\n", i, ch);
printf ("ASCIT code: %d %d\n", i, ch);
return 0O;

by

« Pythonlil= CHE = Xt2 ASCII DEgE 20Iot= a2 &2 =8 0| St
« chr(i): Unlcode DEQ0 A IP% LIEtHLH=E 2N E S 2lE

« ord(c): otL+2 Unicode = At S PEPLHi NS clt =HAH Y X2

Unicode D =&tE LIEIHUH= 8-S 2|8

e« Unicode: &8 MH S P==AE ZEHUA L2EH 28 = UEE
A A DE E ASCIH D& HEE Latst,



K=& o| H2l (Type Casting)

» A=Y HO|HZS #oiots S &

o
—

» A=go| #Heh HOoJHS| By Y= H= A

double numl = ; // int¥ =z 102 doubleE8C=z AIs & HE
int num2 = ; // doubleld &l 3.148 intdo=z A= & HEt
int double

olofol1]0]0|1]0]| qummm pOfolol-lofofol]o]
g 59

X s exp (E
T \ r 1

— numl10= 245.00| C{ &
— num20j|= 30| C{ &

IS0 WMse & WS > AH5 o

— o —



double numl = ; // numlOl 10.0 CHY
int num2 = : // num20 3 O4&
int num3 = ;

char ch = num3; // ch0] 2 O

00000000 00000000 00000000 10000001 W) 10000001

\ Y J \_Y_I
nt2 EHE 1084 129 chardO2 B8 [ 10R4E
S (1 HHOIEZ =2))
HOIH 7o BRI7I E2 ARP2=29)

JJ"-P‘*OHH 50| Ef 0] 2 A10] At 2
A

_ E| -S> I—IJ\ 5. |:||.O| o s Ate |:||-O|E
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char, short

int main ()

, num2 = 7;
numl 4+ num?2;

short numl

ol

H

(]

// numl, num2J} int¥C=z o

(Integral promotion)

short num3

=24
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C & Python Examples

e C

#include <stdio.h>
int main ()

{
double numl = 245;

int num2 = 3.1415;
int num3 = 129;
char ch = num3;

printf ("numl: %f\n", numl);
printf ("num2: %d\n", num2);
printf ("ch: %d\n", ch);
return 0O;

* Python
numl = 245
num?2 = 3.1415
numl = num?2

print (numl)

. = XX E}

= & & B A K (statically typed
language, compile time0f] 842
Bt = 28)0|2=2 O H A
Ololl At & gi2t0] & O &L
« LSt char, shorte| At & 0] UL

=0 =2 =30 2e As &

Hats SO

« Python2 S&E
typed language, run time0f| B4 =2
Etel S Z2&)0I2 2 () AL
Ot Xts & Het0| =MotAl

==Lk
« Pythonl| & Et22 int
OfLISIO SO =20l 8=

s30 2et ks & tﬂiFE

ZEMotAl =L,

Et & Of (dynamically



double numl
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double rl = (double)nl / n2
_ X120l & REL HY

ZFO Ol
E=E —

=

S st}

L—

int main()

{

int numl

double num2?2 = * numl;

int main()

{

int numl =
double num?2 =

* (double)numl;

01

X double™

o=z A=z ¥

W“

I =




C & Python Examples

e

#include <stdio.h>

int main ()

{

// WAL Aig2d 2L X0

il

rto

ot s &

o

double numl = 5.15 4+ 19;

printf ("sf\n",

// BAE & H

double num2 =
printf ("sf\n",

o Lkl

// COlME d&=/8= =

H%f\n" ,
$f\n",

printf
printf ("

return 0O;

numl) ;

int)5.15 4+ 19;
num?2) ;

AL (/)

5/2);

= (R)
// 2.0
(double)5/2) ;

//2.5

* Python

= Z X0l
.

# Python& LIHAAX Xt=
Olet At= & Y&0l 20t
numl = 5.15 4+ 19

print (numl)

go&

§ YA B P
num?2 = int(5.15) + 19
print (num?2)

Ol Lt=J] AL (/)
# Python 30N= /8= =
print(5 / 2) # 2.5

iz
1>




printf g

| Escape Sequence (53

xh

LIH A= =0l
gt 2 glCH

O|AHO|=Z AIRA "2

a H(E 1)

Wb 5 A IH| O] A

W = I E
;E‘PE%%OF/' N = Hi&

Wr ZHE|X] 2[H

Wt A=

Wy A EH

W o g

" Z=H

WA i =2 Al

W? CHE =28




prlntf -r | Format Specifier (A& 2X}) printf("%d”, 3);

specifier |Output Example
dori Signed decimal integer 392
u Unsigned decimal integer 7235
0 Unsigned octal 610
X Unsigned hexadecimal integer 7fa
X Unsigned hexadecimal integer (uppercase) 7FA
INES f Decimal floating point, lowercase 392.65
M= F Decimal floating point, uppercase 392.65
e Scientific notation (mantissa/exponent), lowercase 3.9265e+2
E Scientific notation (mantissa/exponent), uppercase 3.9265E+2
g Use the shortest representation: %e or %f 392.65
G Use the shortest representation: %E or %F 392.65
C Character a
S String of characters sample
P Pointer address b8000000




C & Python Examples

¢« C

* Python

#include <stdio.h>

int main ()

{
double a = ;
double b = ;

printf("%f \n", a);

// ==& 0|lot 10HM XDt
printf("%.10f \n", b);

printf ("%e \n", a);
printf ("%e \n", b);

printf("%g \n", a);
printf ("%g \n", b);
return 0O;

=
=

A
=

a = 0.123
b= 0.0000123

print('sf'%a)
print('%.10f"'%Db)
print('%e'%a)
print (' %e'%b)
print('%g'%a)
print (' %g'%Db)




Quiz #3

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

- H7|E2 EYS QIS BEQ ZS XY ks
— %8d: HE ZZ2 87t & HSIN QEX HEGM =5
— %-8d: HE £Z2 87t &St 2F HEHA =4
- A EES == 2[0
- B2 AZ =22 EXZ HE XA

#include <stdio.h>
int main ()

{
printf ("$-8s%-25s%5s\n", "name", "major", "score");
printf ("$-8s%-25s%5s\n", "Ann", "Computer Science", "100");
printf ("$-8s%-25s%5s\n", "Donald", "Mechanical Engineering", "80");
printf ("%$-8s%-25s%5s\n", "Emma", "Electrical Engineering", "90");
return 0O;

}

name major score

Ann Computer Science 100

Donald Mechanical Engineering 80

Emma Electrical Engineering 90




- double®d S
Ct= ™ot Ct2LC}

2I3H %7t OFl %lIf7F AFE:



Next Time

e Labs in this week:
— Lab1: 2}A| 7-1
— Lab2: I}A| 7-2

 Next lecture:
— 8-C03. Functions



